


08/06/2020         JESUS AND MARY SCHOOL AND COLLEGE         MODULE-6
CLASS – 5 (MATHS)
CHAPTER-ADDITION AND SUBTRACTION OF LARGE NUMBERS

Definition- The addition is taking two or more numbers and adding them together, that is, it is the 
                    total sum of two or more numbers.
The symbol used to indicate Addition is + (plus symbol).

We have already learnt about addition of 5- digit and 6- digit numbers.

ADDITION OF LARGE NUMBERS

· The numbers that are added are called addends.
· The result obtained after addition is called the sum.
· Arrange the addends in columns.
      Example- 
      Solution-	        L 	  T Th	   Th	   H	  T	O 	
		         1	     2	    3	   5	   1	 8
	           +        2	     4	    5	   0	   9	 5
	                     3	     6	    8     	   6	   1	 3
       Start adding from the ones column and move to the tens, and so on.
· The sum of the addends are always greater than each of the addends (except when the addends are 0 or 1).
· If three or more numbers are added together, the sum remains the same even if their grouping is changed.
      Example- Add  Also add 
      Solution-    (


· Addends can be added in any order. Their sum remains the same.
      Example- 
                  
· Adding 1 to any number gives the successor of the number.
      Example-
· 0 added to any number gives the same number.
      Example- 


Note: Please do all these sums in your copy. This will be checked when school re-opens

WORKSHEET-1

Ques.1. Fill in the blanks.
a) The numbers that we add are called the _______.
b) When we add two or more numbers, the answer obtained is called the ______.
c) The successor of the largest 7-digit number is ________.
d)  more than  is _______.
e)  _______.

Ques.2. Add the following orally and write the sum on the blanks.
a) 3, 20,000 + 2, 80,000 =________.                   b)   4, 00, 00,000 + 2, 00, 00,000 = _____.

Ques.3. Add the following.
a) 
b) 
c) 
d) 

Ques.4. Arrange in columns and find the sum of the following.
a) 
b) 
c) 
d) 

Ques.5. Word Problems-
a) In a country, there are  men,  women and  children. What is the total population of that country?
b) The difference between two numbers is. If the smaller number is  find the greater number.

[bookmark: _GoBack]SOLUTION TO WORKSHEET-1 (uploaded on 01/06/2020)
Answer-1
(a) CLXXVIII	(b)  CLXXXII 	(c)  CDXCV	(d)  CCCXCIX

Answer-2
(a) 109	            (b) 509	                        (c) 194             (d) 225

Answer-3
(a) XXXIX , XL , XLI , XLII
(b) XLI , XLIV , XLV , L

Answer-4
(a) LXXXI  (81)
(b) CVI  (106)
(c) XXXVIII  (38)
(d) LI  (51)

Answer-5
(a) >	(b) >	(c) <	(d) >

Answer-6
(a) XVI , XVII
(b) LII , LIII

Answer-7
	Numerals
	Roman Numerals

	45
	XLV

	46
	XLVI

	47
	XLVII

	48
	XLVIII

	49
	XLIX

	50
	L
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